
01

CAUTION: Please check your model car carefully before attemp to run!

COPYRIGHT © 2024 NEXXSPEED

®

NEXXSPEED

1

Aluminum Conversion Chassis Kit - FCX24 INSTRUCTION

Aluminum Conversion Chassis Kit

NS-FC24015A

.....x4

M2x8mm Button Cap Screw

.....x6

M2x6mm Button Cap Screw

.....x8

M1.4x4mm Cap Screw

.....x8

Nut M2

.....x4

M2x5mm Button Cap Screw

.....x2

Lock Nut M2

.....x4

2x4.5x0.5mm Washer

.....x4

M2x4mm Button Cap Screw

.....x2

M1.6x5mm Countersunk Head Screw

.....x8

10x3mm Round Magnet

(4x) M2x8mm

Button Cap Screw

M2080BSS

Aluminum

Skid Plate

NS-FC24015FS

Motor

(Stock part

not included)

Lock Nut M2

M2LN

Aluminum

Support Bar

NS-FC24015AB

(2x)M2x6mm

Button Cap Screw

M2060BSS

 (2x) M1.6x5mm

Countersunk

Head Screw

M1650CKS

Servo Holder

NS-FC24015BH

x2

Servo

(Stock part

not included)

10x3mm

Round Magnets

CA

PETG Upper Body

Mount

NS-FC24015CMU

(2x)Nut M2

CA

REV. FC24015A-230823-01



02

CAUTION: Please check your model car carefully before attemp to run!

COPYRIGHT © 2024 NEXXSPEED

®

NEXXSPEED

2

Aluminum Conversion Chassis Kit - FCX24 INSTRUCTION

Aluminum Conversion Chassis Kit

NS-FC24015A

(4x)M2x5mm

Button Cap Screw

M2050BSS

(4x)PETG Lower

Body Mount

NS-FC24015CML

Aluminum

Brace Tubes

NS-FC24015AT

Right Aluminum Chassis

NS-FC24015ALR

Left Aluminum Chassis

NS-FC24015ALL

(4x)M1.4x4mm

Cap Screw

M1440CSS

Receiver Tray

NS-FC24015ET

(4x)2x4.5x0.5mm

Washer

024505AW

(4x)M1.4x4mm

Cap Screw

M1440CSS

(2x)M2x6mm

Button Cap Screw

M2060BSS

(2x)M2x4mm

Button Cap Screw

M2040BSS

(2x)M2x4mm

Button Cap Screw

M2040BSS

(2x)M2x6mm

Button Cap Screw

M2060BSS

(4x) Aluminum Spacer

NS-FC24015AW

(4x) Screw

(Stock part

not included)

(4x) Shock

(Stock part

not included)

(4x) Links

(Stock part

not included)

(4x) Nut M2

REV. FC24015A-230823-01


	Sheets and Views
	Model

	Sheets and Views
	Model


